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QUESTION 1

You add a new object to a query and run the query. How do you display the new object in the document?
A. Select "Insert a table in the current report" option.

B. Choose "Refresh All" in the report

C. Select "Insert a table in a new report" option.

D. Drag the new object from the Available Objects pane onto the report.

Correct Answer: D

QUESTION 2

You create a document with data from multiple data providers. Which two tasks can you perform to include all data from
all providers in the same report block?

There are 2 correct answers to this question.
Response:

A. Synchronize the data providers.

B. Manually merge all dimensions.

C. Synchronize the data providers SQL.

D. Manually merge the parent dimensions.

Correct Answer:. AB

QUESTION 3

What is the default behavior when creating a report from two queries from the same universe?
Please choose the correct answer.

Response:

A. Result produces two table blocks.

B. Dimension objects are automatically merged.

C. Results are shown on two different report tabs.

D. Dimension objects are not automatically merged.

Correct Answer: B
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QUESTION 4

Which two methods can you use to apply report filters to a BusinessObjects Web Intelligence 4.0 document (WID)?
There are 2 correct answers to this question.

Response:

A. Block

B. Global

C. Custom

D. Dynamic

Correct Answer: AB

QUESTION 5

What operator do you select to use a wildcard character in a Web Intelligence query?
A. Equal to

B. In list

C. Matches pattern

D. Except

Correct Answer: C

QUESTION 6

Which analysis function adds a column to a vertical table?
A. Percentage

B. Count

C. Sum

D. Default aggregation

Correct Answer: A

QUESTION 7

When using the ranking feature on a table, which expression allows you to display the total of all values (both ranked
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and unranked) in the footer of the block?
A. Sum([measure) For Each [dimension])
B. NoFilter(Sum([measure]))

C. RefValue(Sum([measure]))

D. Sum([measure]) In Block

Correct Answer: B

QUESTION 8

Which message appears when you select "Use query drill" while Scope of Analysis is set in a BusinessObjects Web
Intelligence 4.0 report?

Please choose the correct answer.
Response:

A. The Scope of Analysis is empty.

B. The Scope of Analysis is not empty.

C. The query drill mode option is enabled.

D. The query drill mode option is not enabled.

Correct Answer: B

QUESTION 9

What do you use to conditionally hide a report element?
A. A formula

B. A formatting rule

C. A query filter

D. A report filter

Correct Answer: A

QUESTION 10
To where can you copy a formula used in a document?

Please choose the correct answer.

Latest C_ BOWI_42 Dumps | C_BOWI_42 Practice Test | C_BOWI_42 Study Guide 4/6


https://www.pass4itsure.com/c_bowi_42.html
https://www.pass4itsure.com/c_bowi_42.html
https://www.pass4itsure.com/c_bowi_42.html

VCE & PDF https://www.pass4itsure.com/c_bowi_42.htm|
a 2024 Latest passditsure C_BOWI_42 PDF and VCE dumps Download
_ PassditSure.com

Response:

A. To another block on a report

B. To the Available Objects panel
C. To a conditional formatting rule
D. To the universe

Correct Answer: A

QUESTION 11

Why is the subtotal missing from the bottom of each break in the attached diagram?
A. The default aggregation on the measure is delegated.

B. The report is NOT sectioned by year.

C. The break footers display option is NOT selected.

D. The calculation was applied to the table before the break.

Correct Answer: D

QUESTION 12

Which three statements are true about alerters? There are 3 correct answers to this question. Response:
A. You can apply alerters to charts.

B. You can apply multiple alerters to one block.

C. You can apply the same alerter to multiple blocks.

D. You can control the order in which alerters are applied.

Correct Answer: BCD

QUESTION 13

Why purge data in a document before saving to the Bl platform? (2 answers)

A. To ensure that data security restrictions are applied when the document is viewed.
B. To enable data tracking on a subsequent refresh.

C. To reduce document file size.

D. To allow other users to view the document in their preferred viewing locale.
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Correct Answer: AB

QUESTION 14

Which three elements are parts of a query filter? There are 3 correct answers to this question. Response:
A. Class

B. Object

C. Operator

D. Operand

Correct Answer: BCD

QUESTION 15

Which of the following option is not a component of Web Intelligence Application Structure?
Please choose the correct answer.

Response:

A. Toolboxes

B. The Left Panel

C. The Expand panel

D. The Status Bar

Correct Answer: C
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